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#t * B % (AXH#) BRI AL | HEIELE
X MATERRGC)| Yz s ()=
BFN) TF(N) FHA) ;‘/fi B %
2E 21,788 49,185 70,973 -4.3 9,769 4.4
1088 14,176 27,264 41,440 -3.2 11,674 5.0
FLIR 415 1,401 1,816 -2.3 10,244 7.3
s 354 917 1,271 -9.3 7,186 2.5
AU 6,622 11,422 18,044 -3.8 10,162 4.9
B 1,011 2,273 3,284 -0.5 12,742 0.9
fh = 1,077 2,063 3,140 -3.4 14,134 2.0
AR 706 2,070 2,776 -2.3 10,178 1.9
KB 2,597 4,246 6,843 -2.1 14,483 9.1
i 312 487 799 -4.7 23,618 3.2
N 512 1,141 1,653 -0.4 9,157 -0.9
8 [it] 570 1,244 1,814 -4.6 13,823 8.4
10E8HT A5 DX 7,612 21,921 29,533 -5.9 7,095 2.0
AbifE 79 332 411 -1.9 5,079 -2.1
ik 525 1,640 2,165 -8.1 4,408 3.3
BAIR 3,044 9,851 12,895 -6.5 7,245 2.4
HE 513 1,347 1,860 -3.9 8,964 2.7
T 947 2,610 3,557 -12.5 7,473 3.1
o =] 615 1,886 2,501 -3.0 6,012 1.8
VU =] 431 1,238 1,669 -2.1 6,842 1.2
JUIN 1,458 3,017 4,475 -1.5 7,772 -0.8
FE5% WMEEHMBLUVUEHEEE 2
m % T % H 15
£2E 5,672,902 -3.9 12,222 3.9 31.0 31.0 226
1088 2,896,888 -2.7 16,700 45 31.0 31.0 83
FLIBR 147,529 0.0 12,610 4.8 31.0 31.0 5
fili& 64,151 -27.8 14,236 28.8 31.0 31.0 2
HUR 844,760 -4.8 21,707 6.1 31.0 31.0 25
R 262,312 -0.8 15,952 1.3 31.0 31.0 10
S = 308,427 0.0 14,389 -1.5 31.0 31.0 8
AR 184,603 -3.3 15,306 3.0 31.0 31.0 6
KB 580,832 -0.6 17,062 7.5 31.0 31.0 11
i 131,631 0.0 14,336 -1.6 31.0 31.0 5
= 197,957 0.0 7,646 -1.3 31.0 31.0 7
& i 174,686 0.0 14,354 3.4 31.0 31.0 4
oBHLAOBmE| 2,776,014 -5.2 7,548 1.1 31.0 31.0 143
AbifE 50,171 0.0 4,160 -3.9 31.0 31.0 3
Bl 222,301 -5.4 4,293 0.4 30.9 31.0 15
B 1,087,943 -7.4 8,587 3.4 31.0 31.0 50
HER 267,413 -0.1 6,235 -1.1 30.9 31.0 14
T 348,448 -13.5 7,628 4.3 31.0 31.0 27
W E] 232,675 0.8 6,462 -2.1 31.0 31.0 15
VY =] 131,565 0.0 8,680 -1.0 31.0 31.0 5
JUN 435,498 0.3 7,986 -2.5 31.0 31.0 14




